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INSTRUCTIONS TO CANDIDATES

O 1. Please read the instructions _gven in the question paper CAREFULLY.
2. This question paper is p@ed on one sides of the paper. . -
3. This question paper &&?sists of TWO (2) sections; Section A and section B.
4. Answer ALL qu{%&iyt.)ns.
o

3. Please write yo\dr answers on the answer booklet provided.

THERE ARE FIVE (5) PAGES OF QUESTIONS, TWO (2) PAGES OF TABLE, AND ONE (1)
PAGE OF FORMULAS EXCLUDING THIS PAGE.
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SECTION A (Total: 40 marks)
INSTRUCTION: Answer ALL questions.

QUESTION 1 . ,

Lenovo is one of the world's leading personal technology companies, producing
innovative PCs and mobile internet devices. A global Fortune 500 company, ,sbnovc;
is the world's largest PC vendor and fourfth Iargest.smartphbne company. 00

. 4‘3

While the Lenovo brand came into existence only in 2004, the comppg'fy has a much
longer history. In 1984, Legend Holdings was formed in a guard@%se in China. The
company was incorporated in Hong Kong in 1988 and would a‘ow to be the largest
PC company in China. Legend Holdings changed its name to Lenovo in 2004 and, in
2005, acquired the former Personal Computer Division of IBM, the company that

invented the PC industry in 1981,

Today, Lenovo is a personal technology comg@‘ny with more than 54,000 employees
(including joint ventures) in more than 60 tries serving customers in more than
160 countries. L.enovo has headquarteﬁ?ﬁf Béijing,-China and major research and
manufacturing centers in countries arokl\ﬂd the world.
Y.

Lenovo has grown faster than the{\?ﬁarket for more than four years while producing
whether a PC, smartphone, tablet\,’smart TV, server, workstation or storage, Lenovo
makes the products that customers need for what we call the "PC+ world.” Lenovo
owns the greatest track record for innovation in the PC industry, consistently winning

awards and receiving rave reviews.,

Lenovo remai_ngitommitted to innovation and will continue to leverage our history of

technological ¢hfeakthroughs into new product categories that drive future growth,

Innovation jsthow Lenovo achieves competitive differentiation and drives new market.
opportunjqﬁ_b’s, such as mobile Internet, digital hom.e and cloud computing.
< : ' !

There'@re, to produce latest technology product Lenove need diveréifying into a new

" product line which costs RM4,000,000. To finance this project, the company plans to -

. issue new bonds to finance 25% of this cost and the remaining will be covered by

ordinary shares.
The company's present debt and equity as at 31 December 2015 are as follows:
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RM
8% Bonds at par 6,000,000
Ordinary shares at par 8,000,000
Share premium 400,000 o Q‘\
Retained earnings 1,600,000 P
&
The company information on the bond and ordinary shares are ?é follows:
&
Par Value Dividend Paybut Market Price
- (RM) - (%) (RM)
Ordinary shares 1 40 11

The bonds (par value RM1000 with 10 years' maturity) will be issued at RM 950.
" Floatation costs on issuance of these bonds are nil. The company has just paid a
dividend of RM0.40 per share to ordinary %%reholders The dividend is assumed to
grow at a constant rate of 8% and the ﬁ'datatlon cost on the issuance of ordinary
shares is 10% of market price. The co(@orate tax rate is 26%. -
Sami is a recent MBA graduate ?Pas been hired by the company's to finance
Department. Sami had been ask@ by"the Chief Finance Officer of the company to
prepare a report that answers th},-’foliowmg questlons Help and advice Sami’s on the
report. ’

Required: .
i.  Determine the number of bonds and new ordinary shares fo be issued o -
finance the projects. '
=\ , : (6 marks)
ii. Calcula "
1. The aﬂyr—tax cost of bonds
2. Tha'{eost of equity
QB- 7 (10 marks)
\‘jDetermlne the weighted average cost of capital if the company plans to
undertake the pro;ects )
(4 marks)

[Total: 20 marks]
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'QUESTION 2

Precision Instruments is.considering two mutually exclusive Projects X and Y:.
Following details are made available to you:

Year X Y
Initial capital outlay (‘000) RM700 R%Z(OO
After tax annual cash inflows ('000) 1 100 0850
' 2 200 iL" 200
3 300 B ~ 200
R -
4 45(;\'@v 100
5 508 100

The firm’s cost of capital is 10% required for each projects:

Required:
i.  Calculate Net present value of cash flows. (6 marks)
i. Calculate internal rate of return = & (8 marks)
ii.  Profitability index : 9 (2 marks)
iv.  Explain is it possible tochoosicﬁgth projects. If not, which project should
be chosen? Reason your amswer (4 marks)
<P

Y [Total: 20 marks]
SECTION B (Total: 60 marks) '

INSTRUCTION: Answer ALL questions.
QUESTION 1

A. The current d_'n\/idend on a stock is RM2 pér share and investbrs required a rate of
return of 1 2@
Required:() _ |
i.  Calé\late the stock price if the dividends grow at rate of 6% annually.
v | ' : | (4 marks)
ii. ,@alcu[ate the stock price if the dividends are expected to grow at réie of 20%
\’per year over the next three years and then at a rate of 5% per onwards.

(8 'marks)
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A. Ariff is conside'ring the possibility of opening his own shop. He expects first-year
sales to be RM600,000, and he feels that his variable costs will be approximately
50% of sales. His fixed costs in the first year will be RM250,000. Ariff plans to use

" 60% equity financing and 40% debt at 14% interest rate.

Required: o g

Required: . '9)

| | Compute Ariff's break-even point in RM. (2 marks)

fi. Calculate the Degree of Operating Leverage, Degree o&@%anwal Leverage
and ‘the Degree of Combined Leverage. {\,)\ {6 marks)
N [Total: 20 marks]

QUESTION 2
A. Discuss in details the term of Riba and explain how it relate to Islamic finance.
' ' (5 marks)

B. Explain why Islamic banks charge (iﬁeir customer (borrowers) more than
conventional banks (interest rate) ()

2 (3 marks)
C. Describe the differences betn.. (Ln Mudarabah and Musharakah instruments in
terms of: Q)\
\’>'
i. Capital
i. Management
iiil. Profit and Loss Sharing
(6 marks)
D. Briefly explain two (2) of the challenges that facing Islamic finance.
(6 marks)
A .
Q [Total: 20 marks]
& '

| QUEST[%LJ

A. Gen@ng Sdn Bhd, a company in the holiday travel industry, is presently in
d@ussmn with Sara Sdn Bhd about a possible merger. The current information
d% each company is given below:

Genting Sara
Earnings per share (EPS) ‘ RM1.70 | RM0.25.
Price earnings ratio (P/E) 1 10 times 30 times
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No. of shares outstanding 42 millions 12 millions

Neither company has debt. The management of Genting have estimated that the
combined firms should generate synergistic gains with a present value of RM36

million. =

R

o @
Required: KN

i, Coh'lpute the maximum price Ger_tting should ‘pay for the acquisitiqﬁ
. Q-?. (3 marks)
ii. If Gentinl; paid 100 million cash, determine the Net Preéent Value of the
acquiring Sara. (3 marks)
iii. If a share swap occurs and 1 shares of Genting is exchanged for 2 shares of
Sara, determine the Net Present Value of the merger to Genting. (4 marks)

B. GPO Sdn Bhd an exporter of palm oil. T assigned a contract to sell $20
million on March 2017 to .Makkah Co. (Sab@) Arabia). The current spot exchange
rate is RM4.2/$. Suppose GPO;p;es put, option with strike of RM4.1/§, Will you
advise GPO to exercise the put:opt{é‘u if the exchange rate RM4.2/$ on the
exercise date? Reason your answef', | . (5 marks)

N

C. Suppose that you bought one call option contract for RM200. The strike price is
RMS50. If the stock price is RM60 just before the option expires, should you
exercise the option? If you exercise the option, what is the percentage return on
your investment? If you don't exercise the option, what is the percentage return
on your investment? (5 marks)

[Total: 20 marks]

END OF QUESTION PAPER
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FORMULA

» Depreciation = [Cost - Salvage Value}/n
¢ DPR = (Dividend / Net Income) x 100

« DPS #"Diyidend / Number of Shares Qutstanding éab
¢+ ER) =% (PxR) &

e o=VYP(R-E(R))? Q?‘

« CV=olr | \‘,\('b

e COVixyy =3 (- E(R)xx) (rvvi ~ E(R)vy) (P)
* E(R)p =wixE(R)xx + WryE(R)vy
o Pxxyy = COVxxvy/ (Oxx)(Ovy)
o Di=Do(1+q)
¢ Va=CP (PVIFA) + MV (PVIF) N
» WACC = Sum of ([w] x cost of capital) QQ
« NPV =sumof PV-10 Y
e PBP =[(n-1)] + [(lO - sum of cash ﬂow(é?f'ore n) / (cash flow of the year n)]
s V'B=AV+VB Qj{'
e Vas = VA +(V*B - cost of acgn) @
o Vi =VA +VB + AV A
e MP = Value of Co AB after merger
Total no. of ¢/stocks (new + oid)
e NPV =V*B - actual cost of acgn
e Ka =A% + [(a-b)(a-c)1x (C% - A%)
o Kp=D/(MP-FC)
. KRe=[D1f(|}£Q)]+Q
o Knos=[D1 Io@’IP-FC)] +g
» Ve/s =Dividend /k
s \Vcg/s= D@-g)

L,
o
~4






